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1. The sum of the first k terms of a series S

= 2 .
fs 3k“ + 5k. Which one of the following
is correct?

(@) The terms of S form an arithmetic
progression with
difference 14.

comimon

() The terms of S form an arithmetic
progression with
difference 6.

common

(c) The terms of S form a geometric
progression with common ratio
10/7.

(d) The terms of S form a geometric
progression with common ratio
11/4.

2. The sum of the first 8 terms of a GP is
five times the sum of its first 4 terms.
Ifr=1lis the common ratio, then what is
the number of possible real values of 7?

(a) One

(b) Two

(c) Three

(d) More than three€

ation X 2 _kx+k=0

3, If one rosot oi‘; ﬂ;:ht: P Sy
cf::m:) th followiﬂg is a value of k?
o
6
(@) 3 (b}
() 9 (d) 12
(s
- -4, then what is
4. If x+5=4 and y+5}
= u
?
equal °
y yf; m) 1
(a) e
(c) 4
AEB c-B-MTH |6BA

‘__m

5. If 5th, 7th and 13th terms of an AP are in
GP, then what is the ratio of its first

term to its common dlﬂ'erencc?
axud ,e+bd ¢ +1d

T
{a} -3/4&'“31*{1_/6 /(4-9%’!‘4:!’ +a8d

(b) —2 qo,f,. Lol
q;-*Qq. .—‘—&3, -3

1-1'
\;?@ S
1

i‘

lq J-'t.)

6. If p, l,qﬁre AP and p, 2, qaremGP

then which of the following statcments
|

is/are correct? "P'” 3
1. p 4,qarcinHP. v -
L

. (1/p), 1/4. (1/q) are in AP-

Select the answer using the code given

below.
ow l

g9 3L 16 & &L
(b) 1 only

(c) Both I and Il

(d) Neither 1 nor 11

7. 1f x = (1111, y=(1001); and ==(10
then what is x3 -3 a

equal to? T‘_C-Sx:;’za
(@ (1111001, YR
() (1001111), ki o B
e T
(d) (0)2

[PT.o
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If _ 3 \ 11. If A2+ B?2+C%2 =0, the
\ a b c )l vnlu;: of the following? N
g 1 A=|d e \ I Gk Lt >~ -
2N ||g h {II "*\""3) G ¢ "d 1 cosC cosB
2 == ’ cosC 1 cosA
and A. B, C, D, G are the cofactors of the cosB cosA 1 |}
clements a, b, ¢, d, g respectively, the 3 5 |
what is bB+cC-dD - gG equal to? 3 fa) -1 {b) O T
ja) O s .tk -3 al3-6) e 5 3 °
i c) 1 d) 2 ' -
b 1 Q,«sﬁ',‘;/—f “ - I Y 5)
- £
© A (o -6 ¢+
a 12. If wis a non-real cube root of unity, then
oy == what is a root of the following equation?
; ; : 8(u.—;)~i[5‘3}
9. Consider the following statements n x+1 ® () RN ,’
respect of the determinant ) \ 1 @ x+w? 1 |=0 s
|Ik{k+2§| 2k +1 11 \ ‘ '}” w? 1 x+w 2 -\0 +8§ 7
A=|2k+1 k+2 1 e Cy L -le
| 3 3 Mg W L @ x=0 (b) x=1 ~ Q)
I A is positive if k > 0. Ly it !
II. A is negative if k < 0. Ll | A g x=0 (d) x= w?
M. A is zero if k=0. T ‘-Ji) Wt
~  How many of the statements given ) 3 T |
above are correct? 13. What is [ 7 _:] equal to? Lt | 7 wl
" (al Nanﬁ[ _1}(34'|L1j] "'!L(-?'.-'L-) & M"l( VR P Y (W S 8
' (b) Omne ™~ 0
g : 0 e ayfir AW+ wd)
- fc) Two 4- B fc) 1 d 3 (
ol Zumce = W) -
_"",'li;'l1 -3 n-~ -3 2 e 1
10. If ol BN " 14, f x“-x+1= 0’ then whiis " Lot~ L-\Iq'
| 2 3+ -1 | * 2 s L
;'Uli“) 3-i O i-1|=A+1B (‘E’_i."-l- [N-ﬂ +(x__1]q+ 118 ( e
L oy =d-i 1 3 -1t X [1*1) ==1)
- X
-1 wherei= J-1, then what is A+ B equal equal to? augd @
: A
‘6‘; to? g == ) . W
] A o
- (@) -10 (b) ~© A 3+ taly (o) 81 (b) |
@ 6 e Qe f 85 WA
fe) O ' (o
'1-—]-—(-—‘5“] f =¥ = ’:‘.—QJ-S'J’ J 87 fd} L\) L-Jl
4 A - 3 s we OV )ou| P W !
AEBC-B-MTH/55A — 5 - ;
il 1@) Q_:_ﬁ')ES )« iy ~
T L


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247
P

8. ft

a b ¢
d e f
g h i

A, B, C. D, G Waua} a, b, ¢, d, g%
FHY: WEGS B, A bB+cC-dD - gG Rk

A=

T 27
fa)] 0O
b] 1
fc) A
(d) -A
9, wRis
-
kik+2) 2k+1 1
A=|2k+1 k+2 1
3 3 1
%ﬁaﬁﬂﬁn%ﬁgamqtﬁﬂnﬁﬁﬁq:

L A= 8, 3Rk k> 0.

II. AROTeas ®, af2 k < 0.

m. AY=A2, 3k k=o.

T Fl @ fren /P wh 237
(@) 7 ofi

(b) TH

2 3+1i -1
3-i 0 i-1
-1 -1-i 1
& i = V-1, @ A+ B frad wue 27
dg) -10 (b) 6
fe) O (d) 6

= A+1B
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11. 3 A2+ 82 + 2 = g, A
O’

1 cosC cosB
cosC 1 cos A
cosB cosA 1

F1 9H 747 27
fa) -1 J€b) 0

c) 1 (d) 2

lz.ﬂﬁmﬁ(unity}ﬂﬂmﬁmﬂqqﬁi,iﬁ
& LEicau

x+1 W w?
® x+w? 1 |=0
@2 1 X+m

H TH g (root) T B?

d9 x=o0 ® x=1
fe) x=w (d) x=w?
(_;’" (g‘_‘:)aﬁmﬁmt?
@ -1 (b) 0
€ 1 (d) 3

@ R x?2 - x+1=0, @

(=2 e

e aua 27
fa) 81 (b) 85
fc) 87 (d) 90
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18. How many 7-letter words (with or without 21. If the sum of binomial coefficients in the
meaning) can be constructed using all expansion of (x+y" is 256, then the
the letters of the word CAPITAL so that greatest binomial coefficient 0cCUT® o
all consonants come together in each which one of the following terms?
word? 'H“'"A L2 NPREYR b il o, 5 ¥
> (a) Third v (9) @
(@ 360 ey (B Y
() 3 L. pliyV d
) -9 Y (b) Fourth D @
(c) 288 (d) 240 A— v @ e
c) Fi
16. 1fz # 0 is a complex number, then what is (d) Ninth
is &

~2MP (2) + amp(Z) equal to?

If k<(2+1)3 <k+2 where k

L]
0 b 2 20-1)! 3 .
R ( ,g?‘\ & Bl 8 "\__( natural number, then what 18 |
) ™ b (d) 2 EC Y [ LH of k? {1
D o = (@ 11 ®) 1 .
I~ 17. How many sides are there in a polygon -
which has 20 diagonals? 9 | 239 'l‘l fe) 15
' S
i o ® 7 n+(?L 23 1
) 8 (@ 10 C) oaan 1 2 31
w4l Al 4 x11]4 5 6[ 1=K yar g
18. In how many ways can the letters of the 7 8 9||x
| . arranged keeping the
Worfi* BELEY v . d consonants then which one of the following is a
, 4 Ygositions  of vowels and C ARLE m——
N'-.J unchanged? \'ha( (3’1\ (fq)
2 -1
\ (a) © (b) g\'l_ 4- ;:_L -r"] (@) (b) ;
) 12 @ 24 3 5 © © @ 1 3P EXY
i s
“m Q!} What is the number of gositive integer 24, If
solutions of x+ BEET 5 radst  Axros @ A4S y z x
(b) 5 A=|z x Y
ﬂ\k“ ol ALY 4 LA CAEL AL AIN X Y z
L d ° Ay
(c) © A1 Ale e s o & A R T

umber of rational terms in

ig the N
20. What 18 of [3,3 + 5-}]12 2
6-¥ 2,

orthogonal matrix, then what is the
value of x2 + y2 +22?

xpansion
the expP & P i i
2 _ g+
- (d © \%JL?' (c) 4 (d) 14
() 4 ke ] Ay @
-""q._ 1
’ sy G [P
AEBC-B-MTH/BSA __IQJ i i T0.
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{8 wme CAPITAI ¥ ) ] ) v w0k faay
el e {nﬁl{‘ﬁ L m}m) T =
wad Bty A% = A Wl S uE oy

!

ial 360 b) 300
fe) 28R {ed) 240

16. R 220 ww  wimy

an 2 Hﬁm %1 ﬁ‘
(2 + amp (2) ey qUNT RY
(@) © () /2
el = (d) 2n
Y UF =Wy, e o
(@ 6 (b) 7
18. ¥= DELH % Hapl =y
THR B swafiyg
T R, el )y i =
ety (uncha.nged) w®Y
(@) 6 (b) o
fc) 12 @ 24

19, X+ty+z=5% YA

Integer solutions) Y S

& e 27
(@) 3 (b) 5
c) 6 (d o

2%13‘5+5%112 F yER A uftw wd ) gem

AR il
(@) 2 (b) 3
& a4 (d) 6
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y z2 X
A=|z x Y
X Yy z
p g
ol x, y, z % B, TF "
x2 4+ y? 422 MR w0 R

(@ © L

c) 4 @ 1
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%"3- o It i s ynd 33 = a4l gs)

q S
= 1 4y j
25. Consider the followi .
w
non- ltu-\g-u]a‘ '“H‘lﬁ::“;f n respect of a 28. If the number of selections of ras well as
\ i (n + r) things from 5n different things are
' l M2 = | M| vl xS “’) 1(1§ "”") "%(- v - equal, then what is the value of 7?
. |M=| M1 SRR SN @ P by Ve
PR
m. |M|=|MT| &) w1
) 2n 3 3V s° nis
How many of the above are correct? 13 1 9
{c) 3n L |
(@) None R 2 y 5 4 1*
35 q 3 (d) 4n s 10
(b) Ome Y F
% 82 l'!;'La‘oa-gs')q[use-s’w)—*'b(.% ,‘/z')
(c) Two a3ty a3l 34940€ ‘ ;
AgaL 29. What is the number of selections of at
(d) Al three 33u1+1 3434%  S4114%4  most 3 things from 6 different things?
'R,/"Q ;‘6’ 5 34N4%w b —4S 2= G
26. 1f ~ (@ 20
D’! =

cosB sin®
("hr Q 6 fta}:[—sinﬁ cosB]

JEET L L4
: - O
5% N " ! T © B
Bthen what is Uf(7)} equal to? At

e RO = v 3 O (d) 42 1(1)"(-'1)4-\L*L)
W | o -11 a L (o * { +L +L

~ 30 f
. ] Taaf . B
({_l_j:) ’\ A=y z x
z x Y

1
1 2 2
6 (\q wle & 2] (atusl pALEl Tausl
, = where x, y, z are integers is an
P 2 ;
9 2 1] A *12U W&tay Urlidrthogonal matrix, then what is A2

LA U U (T
is A2 _4A equal to? 14\ édual to? A

(=

3 O & O

(a) 514 5; 2 3 ‘_Q 3{(1} Null matrix & a €
l’b} "f3 3 5’ 3 (j’ qu} Idenhty mat,ru: G )

) 13
fc) A
d) Sla .

. ; ; 5
where I3 is the jdentity matrix of order @ -

AEBC—B—-MTH{SSA [P.T.O

- —— —.
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@P-@mwmmﬂ,ﬂqm
T :

L |M2|= M2
L |M=|M

NL | M| =|MT)
I A A e/ fred wd 2/47
(a) @ f =
(b) TH
ofe) A
(d) adt €=
26, If2
~ ® sin®
cos sIn
T {B}=[—sin0 cosﬂ]
A (f(n)2 s Toe 27
-1 0 1 1
(a) [0 _1] (b) [1 1]
-1 0 10
fc) [0 1] ‘g} [0 1]
%} afe
1 2 2
A=|2 1 2
2 2 1
A2 —4A fras SUa BT
(@) -5l4
(b) —I,
fc) Iy
9 5l

wel 1, ®if2 3 1 aeaws sege R
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gl AW

?- uf2 5n fim awgedt 4 @ r TG F T £
TGN, (n +7) TEGHA F T H G F
R, @ r# OE T 27

fa n
JF) 2n
fe) 3n

(d) 4n

(@) 6 firm Tl 3 A wom-3-srs 3 et &
91 ) e T e

(@) 20
(b) 22
fe) 41

(d) 42

8o) af

El x, y, z it &, @& wifaw smeqe R, @
A? TFas o 27

(a) YA AR
(b) TEHNE TR
fe) A

fd) -A
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Consider the following for the three (03) items a8. What is the maximum value of p?

that follow
et p - &sin3d5. g = 8in25 and r = sin(-95°). ("\&'5\]

What is (p+ g+ r) equal to?

(735 23 - S

31

= fa) 1

7 )
ANCISCA S - v 35
= fc) 2siny
o S 2 T WY <N RN
{d) 2cosS %
to?

32. What 1s (pg+qr+ rp) equal

fa) 1
(b) V2
() 3
(d) 2

Conaider the following for the three (03) items

that follow !
The sides of a triangle ABC are AB=3cm,

BC=5cm and CA=7cm.

following statemnents :

36. Consider the
obmsc-angled

(@l -3/4 Z"\' ¥ =" :,..35‘ 1. The triangle is
m_‘}h? o ) R triangle.
\)_/ - > ' ] g..,.{ / . . The sum of acute angles of the
H c) 1/4 \ ) triangle is also acute.
(dj 3/4 L z 5 ') 5"1/( Which of the statements given above
g is/are correct? “w 9 iy
’ - 2, 2 - ¥ ¥
as. what is (p2 4g? +r7)-eaasl TN ey (62) (@ 1only
fal 1/2 eqte -~ (b) 1 only
. NN PO T fc) Both I and I "
P, , ~
& o 3/2 ?‘] 5 O s (50~ ) (d) Neither I nor II 3
) ! n-t -’AM"{ 37. WhatisABequalto?L 2 S
Cui ) (@) 6C° 6 2
the two (02) items A < e
e following for 1€ (b) 105° SR T :
chat follow ° | (-t 4 O c) 120° Eu- 2 3
Let p = |s1n¢ sinfa - 90 ) @@ (d) 150° on <D _ 3
. aum value of p B i
34. What 1% the mimm L 38. What is the area of the triangle?
(@) © 9 & T fa) 15V3 /4 square cm S
A c X ~)d
D oy 1/2 g ol PIE 0 Pk
' , 1/2 cor w3 A fc) 15J3 square cm j
r ic * T a2 @l 90 -
d ) 1 q*‘ ( ‘e )l / fd) 303 square cm
dl o 4 { {{ "L d * — 3 ) ol
M- (- J\ 1 s
AEBC-B pMTH /BEA \ o P de) [P.T.O
qﬂd ' | -— { L
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L3 aa M (03) weaiwl & fam FEfalEn wfEw

AT

i
3 AT p = sin 35°. g = 8in25° 3 r = sin(-95°)
3y (p+a r) e | 87

fa) -1

& 0

fc) 2sin5°

{d) 2cos5°

2. (pg+qr+ rp) TS s 87
fag -3/4
) 0
c) 1/4
(d) 3/4

@' (p? +q? +r?) s ausr 27

(@ 1/2
(b) 1
(c) 3/2
(d 2

A 9@ @ (02) wwEl F fou Feafafgs w fEEw
Hiforg :

g &#ifse, p = | sina - sinfe - 90°) |
3% p %1 FAaH qF ¥ 'Y
fa) O
(b) 1/2
) 1/J2

ft{/l

AEBC-B-MTH/BBA
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g, p 1 AfUFag a9 70 87

(@) 1
(b) 2
(c) 3

@ 2

;ﬁmﬁ?ﬁ* (03) Wi % oy B w foar

o Bigs ABC ¥t g AB=3cm, BC=5cm
CA=7cm¥|

36. F=fafas wuEt w fmr fifw

. =% B o st g )
. v fage & g & dmee 0 =g
mﬂ?ﬁmﬂﬁﬂaﬁq-mlﬂa’ﬂ-ﬂaﬁ%ﬁ?
(a) ¥ 1

(b) Ha 11

() 13w n

() gArAAD

a7, B fwas wwa ¥

(a) 60°
(b) 105°

@ 3037 "
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¥ gz (V) 8 B o B, W fRm A7 frgadt A, 0
s R @ W B P, Q R RB M F IwHA-F
Faw: 30°, 45° T 60° 21 9F <fifim PO =a 3

QR=b2l
30. PN fa® auR &7
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M A A7 (03) wv F fo frefefan w fay
#ifom

M #ife p = tan2« - tana 3 g = cota - cotln

LB}L (p / q) T mo=n 27
,{g} ~tana - tan2u |
1?) —cota -cot2a

L\}() tana - tan 2a

{d) cota -cotda

4 (p+q) T a7

(a) secda |
(b) cosecho

[c) 2secia
(d) 2cosecid ‘
@ mzﬂﬁaﬂ;m??

@ (pa)/(P*9

«© p/lp+2

(d) p/ep+a

12
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gl
| 3 fore PrAfeRE AR m) an(5) f‘"‘
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T nesi ol
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: qﬂﬂﬂﬁﬁﬁmg 9
#*
46. @
woE kb
@ 19 aR x?-4x+1=0 7 ?
1 1 s O
m 30 o R
) 45 @ 12
d 75 (k) O
4
g e R @ &
1 ﬁ‘!j-'ﬂ Eﬁg'ﬁ#ﬁi' &
ﬁﬁﬁm’@ﬂﬂm 1.2 U
u S o o BAPHEl o lgstan 5”4
w, @S ;
ﬂﬂ?mﬁﬁﬁﬁmfﬁﬁ“ﬂ%m Y o
(@ !
() F] p) 112
) e 1 I o 1
fc) Faq | w1 fd,' “rq
(d 1, 11 3
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Consider the following for the two (02) item
at follow : =

e top (M) of a tower is observed from three
‘points P, Q and R lving in a horizontal st'raight'
line which passes directly along the foot (N) of
the tower. The angles of elevations of M from P,
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Consider the following for the three (03) items

that follow :

- tan?20 — tana and = cota. —cot2et.

Let p

41. What is (p/4) equal to?

ﬁf?\l R ZWQED_D‘:& and 60° respectively. Let (a) -tano -tan2o ” % CJ e I o)
qu:S Yo ok~ JWQ.L (b) -—cota -cot2u
3Wat is PN equal to? { = \r; '4'%— al ki
P@? 3 ’,"'L. (d) cota -cot2a
3—J3 L Sg ’\r
< (@ | =¥ 1q o (] 3
A L2 M= 3 - 42. What is (p+4) equal to?
ECH ‘ TE 40 I \
3++3) "y ~ (S for 8 T 3
N 1 {3 (b) cosecdo
N vgﬁ;ﬁ:ﬁ ” (c) 2secda 19 298
3- JW ___\_'f_.-————"’_ (d) 2cosecdu Jet 3 I
fc) — |a
% 43. What is tan”a equal to? y D '?‘L 5‘}3
o 22 e 4= 31 @ waleea O
S "y () (p+2a)/P 08 -3
'
. N '.E---'? e (c) p/lp+29) é ']
40. What is MN equal to? __,_:————’" (d) p/Rp+a) g T
3+43), t-deNet " L k™
;_3/ (a) [“‘ 2 J ) 1L Consider the following for the items
e ' that follow :
S‘}L [3—‘-{5-]!? i S p O A teh"- L Let 2sina +cosa =2, where 0 <a < 90°.
i ) |2 .
}@ . qﬂ, A L~ 7 44. What is tana equal to?
—_ » [3__#.\1/9 ]b rL/cP'r_pL & | = W (@) 1"‘2(‘]\( qj&f} ) " rrﬂu‘m
\ ; | 4 - (b) 1 “‘ e
ke e = W1 O g 34 AR
Ay
Srok = 4420, L
g4 50,
AEBC - MTH/BBA art A 10 q oy Lo, P I-;-T.o.
I e £ A4z - LAY
-1,4'..! '] ||j‘l’ J (a “(,_%> (L*J_g—g'\l\nll_ ’L

___n\
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- . .
Lil %ﬂﬂﬁnﬂ%mﬁa%@ﬂ!m?muy 1-0 54.141:{?&&!11’1‘@11&3115%%&13,

M n?x-mys2-0 UH-gHl W FEEq B(, 1) % 99 e tamEs Aﬂ‘q;[q-gi:f:

£hfi? P%lﬂn?ﬁﬁrqg,%@m’gm%éaﬁm

TP A V2 v # g v R v &

f@ mn-1=0 1 Q% wifaa frders =y &2

o) mn+1=0 (@ (2 1)
el m+n=0 ®) 31
fdl m—-—n=0 © 22
@ (1 3

52.ﬂﬁpam_q,ﬂa=h'(1%ﬂ!ﬁ'wmiﬁr
ardfaw wemt € 5 fag (p, 1), (1, @ T
(0 0 TF FHarg fys =91 &, @ (p+g
T BT
(a) 2
(b) J2-1
(c) 2-3

(d) 4-2J3

53. u% fayw & ¥fd A(1, 1), B(O, 0 3t c2 o)
B fays & *nfm fGwew  (angular
bisectors) P W i §1 P& fduis =1 &7

(@) (L V2-1)
(b) (1, Y3-1
fe) (L 1/2)

d) (1/2 J2-1)

AEHC—H—MTHMBA

S

55. ABC w% wmw® By ® s ap, BC W
W%Jqﬁaﬂiﬁiﬂﬁsu, 2)8dRDF
Fdea (-2, 6) &, @ BC F1 B = 27

(@) 3x+4y-18=0
LP) 4x+3y-1=0

(c) 4x-3y+26=0
(d) 3x-4y+30=0

ngamgmwi.ﬁuwm 10 cm ®
s 39 @t # 4 A F wiE xey=0

M x-y=0787

fa x2+y?=1
b) x?+y* =25
7

(¢ x*+y’=100

2
X

()

16
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45. What is 2sin2a + cos2a equal to?

(@) 11/10
(b) 11/5
(c) 12/5
(d 13/5

Consider the following for the two (02) items
that fellow :

In a triangle ABC, two sides BC and CA are in
the ratio 2: 1 and their opposite corresponding
angles are in the ratio 3: L.

{a) 15° ¢
(b) 30°
(e) 45°
(d 75°

47. Consider the following statements :

1. ‘The triangle is right-angled.
1. One of the sides of the triangle is’

3 times the other.
c and B of the

1CB An
The ang AP.

1. .
triangle are

given above

Kk

Which of the smu:mems

is/are correct?

\

(a) 1 only

48. A man at M, standing 100 m away from

50. If tan ! k + tan

2
() 1 and 11 only kL = — ¥
(¢) 1and I only _
(@ 1,1 and ul R =
}:L . 1s
| AEBC-B-MTH/66A e “d}é%

49. If k is a root of x2 —4x + 1= 0, then what

GET IT ON
Google Play

the base (P) of a chimney of height 50 m,
observes the angle of elevation of the
highest point (Q) of the smoke to be 45°.
The highest point of the chimney is at R.
Further P, R and Q are in a straight line
and the straight line is perpendicular to
PM. What is the angle RMQ equal to?

] T I 4
e
@ tan(3) (R
RN
=0

is tan ' k + tan“lé equal to?

(a)
(b) O
()
(d)

-n/2

n /4
n/2

11 =

value of k?
fa) 1

(b)
(c)
(d) 1/4

1/2

1/3

LPTo
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51. undzer what condition will the lines 54. Let A(3, —1)and B(}, 1) be the end pc_::lr;;:
Mx+ny-1=0and n?x-my+2 =0 be of line segment AB. Let P be the mi w
perpendicular? 1 point of the line segment AB. Let Q .

g\ - :!-—""' L the point situated at a distance -ﬁ units
fa) mn-1=0 WA ‘-)" 2 “ﬁ from P on the perpendicular blSEI'T"tOr
, line of AB. What are the possible
(b) mn+1=0 WA A e coordinates of Q7
\
AoeX o @ @1
fc) m+n=0 W},#D
(d m-n=0 t‘\l-' J"‘PL -
(c) 22 er"* ﬂﬁL ~u .
52. If p and g are real numbers between 0 @ (3 V) PR Ay B
and 1 such that the points (p, 1), (1 q) @
and (0, 0) form an equilateral triangle,

o ."\.}the:n what is (p +g) equal to? Py
(AN

55. ABC is an equilateral triangle and AD is

the altitude on BC. If the coordinates of
(@) 2 A are (1, 2) and that of D are (-2, 6),
then what is the equation of BC

(o1®) (s )
2-1 o =
0 s e s (D

) 4x+3y-1=0
b)) 2-43 qﬁ)\-fw;;(?\’qt ,//{,L};L (b) 4x+3y e
o () 4x-3y+26=0

3 S e g S
w0 4-243 (d) 3x-4y+30=0 =
,[a"" (d) % RO ‘-!‘f_j\ o< 50
A ;,-—""
N
3 9 . 56. What is the equation of the circle whose
- _ re diameter is 10 cm and the equations f
3 ,‘53'3. The vemccsd angular two of its diameters are x + y =0 anud
B(0, 0) an : at P. What x-y=0
ang'[c meet y L
u 4% bisectors of the trl p? - T\ ,"l ol
& -1 are the coordinates of A ;6"\." W ‘j"l'cij"L x?+y? =1 \ N
k (oo -N sy B vl SRR,
5 _ 1 _ i AN -4
@ (V20 y"/“mw*]{m”q‘i YA T o
J3-1
tb) (L 5 * X&: fe) x2+y* =100
2) j
(c) L 1/

@ (/2 21

v
”/ﬂb (d x? +y? -2x-2y-23=¢
e
o
17
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t2x+2y+1=0 and its sides
are paralle] to Coordinate axes. Which
one of the following is a vertex of the
square?

s
58. A tangent to the parabola y* =4x is
inclined at an angle 45° with the positive
direction of x-axis. What is the point

of contact of the tangent and the .L‘I.":r
parabola?

LI

o)
@ (11 TS ke
B @ 23 ,J/éj’/ %ﬁ}
.e(g /%'//{ \ﬁ'i._:.'\ o \
ol £ 5 ATED
(@d (12 Y,

v

59. What is the distance between t;m two foci
of the hyperbola 25x? - 75y* =225?

(a) 2.3 units

A \
(b) 43 units S>3
\ x I
é_ . (c) J6 u‘ﬂltrﬁ 3 {1, 5 Jr
L, OV @) 2/6 units
e y ;
|+ : an  ellip
o " fﬁﬁ. if any point fll:llﬂn what is the
(3sina, 5costt), llipse? '1[ \ -~
eccentricity of the € y 25 L i
() 4158 .
(a) 4/3 ; e\ g
) 3/4 ¥ 152&
19

AEBC-B-MTH/B5A
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N N 4\ y aT 1’ ,fﬂ" r-
?6 T g A %
\ }0'1 5 T 1
"#r‘fr\
7. A square is inscribed in g circle
X2 4 y?

i 5 '1,
61. If a line in 3 dimensions mak*fﬂ Hﬂ_glﬂ !
f and y with the positive directions :
the coordinate axes, then what 18
cos(a +P)cos(x - P) equal to?

A (@) cos?y R .,.L(I_l)
@) -2 2 2\ , 1 '\GL-*‘T
(b) (-2, - ) "’[ Ty v (b) -cos®y Lé’% N
? P' N !‘ y = fe) si 2? \Lﬁ""‘"l'
c] sin
(c) L—1+_1_. —l—l_] A (Lt ) .
2ol () -sin?y " Afr
(d) None of the aboy {\\h\

62. A(12-1), B(2 5 -2) and C(4, 4, -3) are

\“‘L three vertices of a rectangle. What is the

area of the rectangle?

(a) 8 square units

4 e

—_—

(b} 9 square units
fc) /66 square units
(d) 68 square units

6?;
7
63. ABC is a triangle right-angled at B If

Alk, 1, -1), B(2k, 0,2) and C(2+2k, , 1)

are the vertices of the triangle, thep
what is the value of k ?

43

{53
(@) -3 B =t o
(¢ 1 (d 3
(R SNy B
64. If a line A A
xtl oyl _z2-2
b q r
where p=2q=3r, makeg

with the positive directio

n of
then what is cos28 equal to?
1‘{1} _31‘!’49 hrl._- pl[t‘l-\}
3) (b -37/49 AT e1(3-y)
(c) 31/49 1 -y
(d) 37/49

[PT.O
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§7. §9 4,7

% a_u'-)\u_?‘ufl—ﬂ*ﬁ'ﬂﬁ'd"ﬁaﬁ
Q uﬁatﬁtmﬁ\jﬂiﬁiﬂfﬂaaﬁ#m
hﬁ:-:%ﬁaaﬂ%ahq-m?ﬁwwlrﬁﬁt?

fal (-2 2

M) (-2 -2)

. 1 1
ol [<14-%.. :

I | a7l ;-.‘z]
(d) 3IFF A} ) 3¢

58. W (parabola) v? =4x W wfta
.x«&ﬂﬁ%ﬁﬁ!ﬂ%ﬂﬂﬁ*%ﬁmm

e R e ain ey wyiferg
FR-| 27 "

fa (1 )
b)) 2 2\2)

fc) |
\

1
%)
(@ (1 2

e

59, whqzaaq (hyperbola) 25x2 - 7542 = 925
1 2 NG F g H Tl feeh 27

fa) 23 g&ré
(b) 43 gaETé
fe) 6 wrg
(d) 2.6 5%

&Dvﬁz U AHEE (ellipse) W w fag
(3sina, Scosw) ®, M ddgw 6 =

) BY
(a) 4/3 b) 4/5
() 3/4 (d) 1/2

AEBC-B-MTH/88BA

18

GET IT ON
Google Play

61. ﬂf&3amrq’1ﬂﬂﬁﬁ‘t@1ﬁ%mmﬁ
ﬁmaﬁaamm.sm-,mquT
cos|a +ﬂ}cos[&—Blmiﬂmi? &

(a) cos? Y
b) —cos? Y
(c) sin?y

(d) -sin? Y

62. A(12-1), B2 5 2
A ) o C(4, 4, -3
A & o M ¥ 3 %ﬁmm;?w

(@) 87 g=rd
(b) 9 = g=rd
(c) 66 o wrd
(d) V68 T 3rd

A(k, 1, -1), B(2k, 0,2) 3R c(2+2k k 1)
B & ofid &, @ k1 79 7 2

(@) -3 () -1
fc) 1 (d) 3

64. Ife w& @y
x+1_y-1_z-2
p q r

W& p=2g=3r, y-5§ B uAEE B F
WY 0 Froy g B, A cos20 FHEF quat ¥
(a)
(b) -37/49

-31/49

(c) 31/49

(d) 37 /49
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daaaq7

gp. 3 A W Wi e g, W g (L, )R

AR o ¥ R 38 Y woEe R, R
feg-arqum (3,2, 1) &7

fa) x+2y+3z=6

WP 3x+2Yy+z=6

¢ x+y+z=3

‘_ng' 3x+2Yy+z=0

66. T t@ FRwis ¥& f e Rl % wy
v a

p 3R y ®w @l ¥ AR
a=(sin?a)i+(sin?B)j+(sin?y)k @M
b=i+j+k % @ d b frad w27

(@) -2
(b) -1

fe) 1

W

67. Wiem d=(dxb)x¢ % @ #, frafafaa
Fue 9 fammr Hifs

I duwadat g o b el

. d@adgw

I FU A @ - /A8 w9 R/
fa) FE& 1

(b) =& 11

(T B VR

(d) AM1swAd

AEBC-B-MTH/BBA

20

tﬂl

ﬁ GET IT ON |

Google Play

68. 1 fargst A, B 3 C % feuf wfemr 7oy
b ¥l ¢ v ¥ 5 3d 45425,
AB: BC fra quat 27

(@) 3:1
() 1:3
(c) 3:4
(d) 1:4

9. 47 fargadl A, B 9w % foufd wflw &2
b 3 ¢ ¥, W& ¢ =(cos?0)d +(sin?8:

2| (@xb)+(b x2)+ (¢ xa) s o ¥
& 0
(b) 2¢
fc) 3¢

(d) W Hiew

W ,
wm T @ B, (@xp) s &k bl

(@ -b) e a7

(@) O
(b} 1/2
fe] 1

fcd) 3
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65. What is the equation of the plane

passing through the point (1 1, 1) and
perpendicular  to  the lipe

: : whose
direction ratios are (321)?

66. A line makes angles o, f and ¥

with the positive directions

of the coordinate axes, If

@ =(sin? o)1 +(sin® B) j + (sin2 y)k and

b=i +j+k, thcnwhat;sﬁ’-gcqualto?

(a) -2 o0 * bS-, 8-
EJQ)':’ b A A

b -1 sLEC Ve

c-\h
(e 1
(d) 2

67. Consider the following statements in
—+ i 2R -
respect of a vector d=(axb)xc:

I. d is coplanar with @ and b.
—»
1. d is perpendicular to €.

Which of the gtatements given above

is /are correct?

fa) 1 only

(b)
(c) Both | and 11

1 only

(d) Neither 1 nor 1

AEBC-B-MTH/55A

@) . " equal to?
al x+2y+3z=6 3
‘qu{A{\q}* § MY |
(@ 3:1
b) 3x+2y+z=6 i ﬁ-,}*f“']’r,l
c W d
. (b) 1:3
(c) x+y+z=3 ;'\d”,ur‘.ﬁﬁ”’s\ )
L L - i
(d) 3x+2y+z=0 ,J,?h‘v” & A
@ (d 1:4

21
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68. The position vectors of three points A, E
- - ¥ uc
and Care @, b a.ndﬂ ¢ respectively s
that 3&'-4E+E’ - 0. What is AB: BC

69. The position vectors of three points A,
Band Care @ b and ¢ respectively,
where ¢ ={4::ms2 B}'a"+(ain2 B}E. What is

=¥ - —
(@axb)+(bx¢)+(¢xad) equal to?

-4 ™, A
{ﬂJ 0 ? '.E gc..ah l'
e -E}_ k
fb) 2c o 1
ogtxﬂ
(c) 3¢ 5 P
S £
n’ 'ﬁ'!'

fd) Unit vector

70. Letd, b, (@xb) be unit vectors What
% b 15
{a-b) equal to?

(a) O
) 1/2

(e} 1

(d 3

[P.T.O
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